(‘E,Rg ; ANSWER KEY

~SEE€OND YEAR HIGHER SECONDARY EXAMINATION MARCH 2023

PART III

SUBJECT: COMPUTER SCIENCE

CODENO: FY® (f}o VERSION : £
60 SCORE 2 HOURS
Sn- 1 Sub Answer Key/Value Points Score Total
No | qQns swer Rey/Valu Score
1 (SE)se ! 1
2 Problem identification, Coding of a program, Translation sad Ve *4 1
Debugging Documenda lion
3 8 bytes 1 1
4 do-while loop /exlt Cm(},o@eJ f\ooP . 1 1
5 node 1 1
6 d) firewall 1 1
7 X=53, y=2B 1+1 2
8 '| Registers, Cache Memory, RAM, Hard Disk V2 *4 2
Definition of syntax error - 1 score
9 - . 1+1 2
Definition of logical error - 1 score
10 d-w, 999, Z$, 8¢ % a4 2
1" a) ?7: b) >> c) % d)! “r4 2
12 Correct code ~25¢come (Ponttaoﬁ Cormcoal — | Sene) 2 2
) 7 ( T score)
1+1 2
13 if) 20 bytes ( 1 score)
14 Correct answer (gny 2 Ccmpod-lsmé) 2 2
15 a) void Display ( double ) ; CPomtmo,Q\1 Comvecb‘ - %_) 141 2
b)float Total (int, float );  (Pawitiallly corvedd = )
16 Correct answer (n ames on _Q.' A eac9 2
17 Correct answer Hferences - | HNank 2
(Any R diffe Lok
18 |) Correct answer/(,my 2 cxompfes) 141 2
ii) Correct answer
) IC - 1 score
1+
19 it) Correct figure - 2 score (' Partially cormd—D 2 3
NAND ,NOR (% + %) 1
20 3
Correct figures (1+1) 2
21 i) Relevant answer - 1 score 1 3
if) Correct answer - % *4 =2 score 2

L




22 Correct answer (Comfd Symbols— 15, fegic-1%) 3 3
Correct answer on literals - T score 1 3
23 Correct 4 types of literals ( % * 4) 2
04 i) Correct answer - 1 score 1 3
) Signed, unsigned, long, short ( % * 4) 2
25 Correct answer (L& nawmes cmg.q - Y eacD 3 3
26 1 Correct answer(-% names Ghﬂ, - eac@ 1*3 3
27 i) 12 bytes - Tscore 1 3
i) ™ Relevant answer - 2 scores 2
28 Correct answe 1(_1( 3= Sfcqres) (fegane only - 4, each) 13 3
29 Relevant answer 3 3
) Correct answer - 1 scorg each
30 (names endy — 4 each) 2 5
Correct answer ~ 3 scores 3
LPOA bally corcrreck — 1% Hark)
0 Correct answer tvé)f scores )
) o 2examples - | sco 5
31 C efinchion, Correct answer - 3 sgores 3
(names oy — % each
) Correct answer - 3 scores Any & Componis
32 . ( ’ po> 3 5
ii) Correct answer - 2scores 2
(portolly commect — ¢, each)
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